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But Roivah and Nirbah — 595981 177191 297 S»vaT 2972 lyaan par 07
with witnesses, which are live animals and they are prohibited

Overview

11m° " said (in the name of *"aw) that we must assume that the nr?wn is NN
(but not the nvnw) for we do not find a prohibition on live animals. The X1
asked, ‘but by ¥2711 ¥211 with 0’7y, they are prohibited from being used while still
alive’. Our mdoIN reconciles our X3 with a ruling of the n"7 elsewhere.
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It was therefore necessary for the X723 to mention that the 7¥°27 took place with
two witnesses, for if it would be only by the testimony of one witness, or by the
admission of the owner, it would not be prohibited for common use.

mooin asks:
=90 RINY 121 D3 NININA MY DPOIN NIVT W97 305 13929 YWI2D 9K ON)

And if you will say; according to the view of the n''9, who maintains that a "W

bpoi is permitted for usage as long as he is alive, for the 7x37 MO°X by a 2poaT MW

does not begin -
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Only until after the stoning, and the same ruling also applies, by a y3911 yan,

therefore there is a difficulty from the X773 here on the n"3 w1 -
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For what does the X713 say, that we see from ¥2711 ¥y217 that live animals are
prohibited, which indicates that they are 7181772 2910K even while alive —

' A v is a male animal who performed bestiality with a woman, while a ¥271 is a female animal who had bestiality
performed on her by a man. Both these animals need to be put to death (if there were 0"7v).

2 See ya11 7" >"wA. The 18317 710°K stems as a result from the 72°p0 21°7; since there can be no 77°70 without two a*7y,
there can be no nXi7 MO°X. See ‘Thinking it over’ # 1.

3 See the marginal note which refers us to 12°5X% 7"\ 2,¥ 2N ,MW 7" 2,0Y 17770 ,MOR 7" NN R, P

4 We know that a 5017 MW is 7R172 1MOR; however according to the n"1 that %37 MoX does not take effect as long as
the Ppoan M is alive (one may [for instance] plow with it). The 71X OX is effective only after it is dead (whether
by 79°p0 or even 0TY).

5 See footnote # 1; a ¥2711 v are to be po1; however as long as they are alive they are X373 0.

6 See ‘Overview’. >"1 initially said that the n>1Wwn» cannot be X372 770K since we do not find that 2»n *7v2 are 10X
a»nn (7R172). The ®nx asked, but we do find it by ¥2711 ¥211. The implication of the question is that ¥2711 ¥y217 are
0°°1n IRI72 20X (presumably since they are destined for 719°p0 [see footnote # 2]). However, according to n"1 nu>w
there is no 017 7RI NOX by an animal which is destined for 77°p0. What is the '8 3 question?!
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mooIn responds; it will be necessary to say -
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That according to the view of the n", there is no mentions of 011 IR MNOX

here at all, for there is no »n» X317 MO°X by Y2111 var -
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But rather this is the explanation of what *"7 meant when he said, ‘we do not

find live animals being prohibited’ -
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Meaning we do not find that the 79 \n prohibited us not to slaughter a live

animal in order to eat the meat?® -
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And the X3 asked but ¥2911 ¥2y, which are 2%n “»v2, and did not the 770

prohibit us from slaughtering it in order to eat the meat?! This was the question -
$9591 INTY DN DAY AT D BN MDY HaN

However it was certain to the X713 that it is permitted to derive benefit from
them as long as they are alive.

Summary
The s'®m3 question from ¥2711 ¥211 was how can you say that we do not find a

prohibition to slaughter a live animal in order to eat it, when there is this
prohibition by ¥2711 y211.

Thinking it over
1. Why was it necessary for maon to preface his question by mentioning® the need
for o7y?

2. Why indeed did not °"1 say explicitly that we do not find a>nn X317 710X (so the
nnwn cannot be onn nM0R); and therefore there would be no question from
7y°277!

7 Presumably '01n means that we do not find regarding kosher animals, that there should be a prohibition to slaughter
them in order to eat them. Therefore we cannot say that the nn21wn should be forbidden to be slaughtered and eaten
(which would be the case if we would say that the P105 of 0o» 12980 R? WR 7N refers to the n?wn).

8 However, >"1 did not mean (according to the n"9) that we do not find n"va to be > X172 MOK, for indeed we do
not find that (so there can be no question from ¥2711 ¥217). See ‘Thinking it over’ # 2.

% See footnote # 2.

2
TosfosInEnglish.com



